YASUH vy h—Ro = 6AFER BREHNZTASFL)

e AEHO—X XERHDI—X KIEHD—X RNEHI—X E£EHI—X
(5E1EB) 681H 682H 6A3H 684H 6A5H
14:30-15:30
15:30-16:30 2F 4 2% 254 24 254
16:30-17:30 LS 44 LA 44
17:30-18:30 A4 6FEE 6F&E 6FE

e AERO—X AEHI—2X KEHI—X ANEHI—X #EHI—X
(%52:B8) 6488 6898 6A10A 6811 6A12A
14:30-15:30
15:30-16:30 154 154 154 154 14
16:30-17:30 3FESE 3FESE 3FESE 3FESE 3FESE
17:30-18:30 SEE SEE SEE

S EE AERO—X AEHI—2X KEHI—2X ANEHI—X #EHI—X
(E3E8) 68150 6A16H 6A17H 6A18H 6A19A
14:30-15:30 IR %R $hIR %R $hIR
15:30-16:30 254 2% 254 2% 254
16:30-17:30 LEE 44 LA 44
17:30-18:30 L% 6% 6% 6%

e AERO—X KEHI—X KEHI—X AREHI—X #EHI—X
(5B4BRH) 6822A 6823A 6824R 68250 68260
14:30-15:30 IR IR $hIR IR R
15:30-16:30 14 154 14 154 14
16:30-17:30 3E4E 3FEE 3EL 3FEE 3E4E
17:30-18:30 b4 SEE hE4E
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